o
[N

<0 @> (rad)
o
o [
[y [4)]

.........

.......

L{#4LL .

= ———

il

100,

-1 0 1

2

TP n (PCA to beamline)

< o cot(y) >
o

o
TIT [T T [ TI [T T T[T I [T T[rrrT

x107°

.........

......

PRI PR RN O P 1 1 PO - e
At

o Al i

! ! ,Ivu. d A

-2 -1 0 1 2 3

TP n (PCA to beamline)

MKFT_T1base

_mkFit_TT_baseline_6iter

<4

mKkFit_TT RetrainV2_WP1_6iter

mkFit_TT _retrainOldFiles125_v2_prelimWP_5iter

< 00, > (M)

100

RatioI

0.5HH]

LA RN AN RN R RN AN R AR R

a7 H .
y p | CEL-
. el .
LG LGB LB LG
AR ARATR
¢ T ]
I ! {1111 1748 :
. 1 I ! P
Y14 : h

(k=]

-1 0 1

2

3

TP n (PCA to beamline)

<opp >0

..........................

...........................

Rl

-1 0 1

2

3

TP n (PCA- to beamline)

RatioI

—atT

[k

-1

0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


